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Name

Proportion to Percentage

To find the percentage of a proportion, divide the proportion by the whole and move the
decimal point. Example: What is the percentage for 30 of 50? Divide 30 by 50 and move
the decimal point to the right 2 places and append the percent sign: 30 + 50 = 0.6 When
you move the decimal point to the right by 2 places and add the percent sign, you have

60%.

Use the same method to solve the problems below.

1. 50 of 72 = T
2. 40 0of 95 = %6
3. 220f35= P
4. 340f 87 = P
5.500f100=__ %
6. 250f100= %
7.750f100= %
8. 350f 40 = %o
9. 30 of 60 = %
10. 150f70= __ %
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S00of60=__ %
200f40=_ %
300f35=__ %
330f57=___ %
120f32=____ %
270f65=__ %
160f50=__ %
330f90=__ %
10of10=__ %
100f100=__ %
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Proportion to Percentage Answer Key

Iltem 4929

Proportion to Percentage

To find the percentage of a proportion, divide the proportion by the whole and move the
decimal point. Example: What is the percentage for 30 of 50? Divide 30 by 50 and move
the decimal point to the right 2 places and append the percent sign: 30 + 50 = 0.6 When
you move the decimal point to the right by 2 places and add the percent sign, you have

60%.

Use the same method to solve the problems below.
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1. 50 of 72 = 69.4%

. 40 0of 95 = 42.1%

. 220f35= 62.8%

. 340f87 = 39%

. 50 of 100 = 50%

. 250f 100 = 25%

. 750f 100 = 75%

. 350f40= 87.5%

. 30 of 60 = 50%

10. 150f 70 = 21.4%
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50 of 60 = 83.3%
20 of 40 = 50%

30 of 35 = 85.7%
33 of 57 = 57.8%
12 of 32 = 37.5%
27 of 65 = 41.5%
16 of 50 = 32%

330f90= 36.6%
10 of 10 = 100%
10 of 100 = 10%
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